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AN 23 AS D

3 gz 289 X&

Sel: clsl2gel fas £2 (ol @)
A - ER(EN) - AR - B of & o4 SSa HIDZ2
| 3| AR 1 721,139 648, 151 72,988
Aoz 29 X 585,990 520,728 65,262
o329 Was &2 83,855 65,822 18,033
SIA=2E R 57,701 39,648 18,053
101 @12 bl 10,653 0 10,653
04 DIt 22 XS+ 10,653 0 10,653
OFJIMN JIAMIZENSES 10,653
o3 78,0233 x1H 1202 9,363
oMEAZ BHLY 270,00024 270
o= EERE3 9,633,000 *4.5% 434
o0 HLEEHRELS 9,633,000 *3.23% 312
o AINQALEHRE=S  312,000& +8.51% 27
clIEBEERYS 9,633,000& *1.5% 145
SUMTEERES 9,633,000 *1.05% 102
201 fet2E | 26,848 26,848 0
01 At 22l bl 17,384 17,384 0
OgAlza 3los &2t 26,0003 x 12 +102 3,120
Oddlal slos &2t 32,0003 125 x23] 768
OHBFARZT AL Z2UEDA 8,000& 100 800
OAFALAMOILL AIE W SHI
1,000,000& »3H *33] 9,000
OodEsig 283 =&l
8,000& 24 x 1+ 1562 x 128 2,880
O3lo2g MEES 68,000 x12& 816
02 s3=9Hl 9,464 9,464 0
O0lsda MER 60,0003 »1CH*12& 720
OCATV AtE = 55,000 x12& 660
OcHY MEZ 35,0003 x12& 420
OXNSIMN(5ER) 480,000% = 1CH 480
OXSItAlI(SER) 65,0002 = 1CH 65
oxXsx=2e(&s&) 317,000 »1CH 317
OXNSXHEE (SE ) 301,000 = 1CH 301
OXgFALI(SEX) 3,000,000 «1CH 3,000
OXESF XL (SEX) 2,700,000 =104 2,700
Og& Al E (CCTV) R Rl 10,006, 360 *8% 801
202 o4l 8,600 8,600 0
01 = LHOHI 2,600 2,600 0
OS2 AMOILE &4 650,000& *42 2,600
03 =S F0HI 6,000 6,000 0
OS2 diAsd & o3+ 1,500,000 «4H 6,000




AN 23 AS D

3 gz 289 X&

Sel: clsl2gel fas £2 (ol @)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
204 X2 =2 F H| 4,200 4,200 0
03 SEYREHI 4,200 4,200 0
Oorg syl 50,000& *7H x12& 4,200
405 XHo&HF S HI 7,400 0 7,400
01 AL =SB F SHI 7,400 0 7,400
oF, RoFA U ABM UK
(450,000 *2JH )+(250, 000 1404) 4,400
O=xJ12 MP3 250,000& *2CH 500
OFH4 dug) X 2,500,000& = 1CH 2,500
oldEs XN& 26,154 26,174 A 20
201 et A | 21,204 20,224 980
01 AFR2 22l Yl 21,204 20,224 980
Oy 2d 22 25 9,000 x98 x12& 972
Ozt JIIES 15,0003 *200H4 3,000
O2| 3| oFLH 24 Xt 15,000& 4005 6,000
Oulg 5=z 70,000& x12& 840
O¥es =28 AL 84,000& x12& 1,008
Ogloal stFHUI (M, ME) 250,000 *23] 500
O A A gtskHl 12,000& x12& 144
O 3YN S0 ZFIY 75,000& =204 1,500
Oold 2 Xt 1,000,000& 1,000
OZAHAMNRE = 100, 000& x 1 %20 2,000
OZLIANY AASIA BHasg
70,000& x6H x33] 1,260
OLNSHSAI = 150,000& 128 1.1 1,980
ONES/A A =T AP 50,000& =20 1,000
203 R =&lY| 4,500 4,500 0
03 Al =X H R =X Y| 4,500 4,500 0
O3z2g 43 2,500,000 2,500
O2A2d AHFA 2,000,000& 2,000
305 & 2 S 450 450 0
01 HiMN=SS 450 450 0
OFol &0 & AH 24 450,000& 450
O¥EEo ME2H M1 502,135 454,906 47,229
Hes 22X 458,385 402,056 56,329
205 2| 3| Hl 458,385 402,056 56,329
01 o&8gs 92,400 92,400 0
O & X 2 APHl 900,000 *x7Hx12& 75,600
oEx# 200,000& x7H = 12& 16,800
0284 168,958 162,680 6,278




SH: CASARD
g Ngos 24 N
& FEso d2d M1 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OF-FSE=, 24,136,780& »x7H 168,958
05 ¥ 2H 32 38,270 36,170 2,100
OgzZ2gssZl 4,610,000& +7YH 32,270
Ol ZASE 2R3 1,000, 0002 6 6,000
06 23 2L YRF=EH| 79,920 79,920 0
oo 2,880,000& x12& 34,560
OR9E 1,440,000& 128 17,280
onzaz 1,080,000& »2& 2,160
O2I XX E 1,080,000& »12& 12,960
OSXNEZAAAE 1,080,000& »12& 12,960
07 JRASFSNLH(BSSAE  IMRF) 5,350 5,350 0
O=3dZd S 33712 A5NFH|
300,000 +7H +23| 4,200
OZ 4 AR & n=dl 150,000& 1 * 13 150
O9% IHUsE AHSME 500,000& »23] 1,000
08 oA AL (222 &) 18,200 5,600 12,600
Ogizt mEJ|2 AW =S| 18,200,000 18,200
09 o & & MO 2l 35,000 0 35,000
Oof& & &t 35,000,000& 35,000
100 9EEANELE S 7,000 7,000 0
OdIANZ X RS YHHE A3 RE S
7,000,000& 7,000
112 IRH=RES 7,469 7,321 148
O3 I0AIRE S 165,970,000& x4 .5% 7,469
12 23IRAARE S 5,818 5,615 203
Ood FUHLEBE= 165,970,000& *3.23% 5,361
O3 LI QRALEERES
5,361,000& %8.51% 457
oF +ds"Y & 43,750 52,850 29,100
205 2| 3| bl 43,750 52,850 29,100
03 YA LHAHI 21,000 21,000 0
OZ AR AHOILE &A 500,000& +7H +23| 7,000
O=3 AqZ3Ax=J A 500,000 7% x23| 7,000
OEt2 sl HluAst 500,000& +7H +23| 7,000
04 /& =20 bl 22,750 31,850 A 9,100
OZF4& off A= 22,750
oold =22AH 3,500,000 x5H x 13l 17,500
o=xJtSAHAMN, RME, HHBAEFA
17,500,000& *30% 5,250
HE2LZH (23 AR D) 135,149 127,423 7,726
olet 2 gl 91,467 83,741 7,726
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SA BB O () - MM - HES il
N2d el 23| 91,467 83,741
101 1A bl 69,987 63,581
01 2= 69,987 63,581
AN2EIZ22 % 54,387
obg 13,6412 x 1H «34A| 2t 12 5,566
o6= 11,6343 x4 H 34 A| 2t 12& 18,987
o7g 10,509 x2H «x34A| 2t 128 8,576
oMU (SHIIAL)
11,6343 x1H +80AI 2t x 12 11,169
coMAaH (2 H
10,5093 »1H +80AI 2t x12& 10,089
OFHUZ A 130,000 10H 128 15,600
204 X2 HH| 21,480 20,160
02 22 Xl 21,480 20,160
O&z x| 21,480
S 250,000 x2H 123 6,000
o6= 165,000 x5H 123 9,900
o7= 155,000 »3 «12& 5,580
2 Hl 43,682 43,682
MIlEZHl 43,682 43,682
201 L2l 5,382 5,382
01 At &2l bl 5,382 5,382
ORM2Z JIE+8H| 279,000& x10H 2,790
OJlzg2=d Sl 8,0008 349 12 2,592
202 oddl 31,200 31,200
01 =2LHA Y] 31,200 31,200
OJl2ge2=8 ol 260,000& x10E »12& 31,200
203 YR =] 4,100 4,100
02 ZR &t =X 800 800
OXJAINE & 80,000& x10H 800
04 EAN2IHR2FEHI 3,300 3,300
O 23| AHS 1t 175,000& »12& 2,100
Od=Zad 100,000& = 12& 1,200
204 X2 F Hl 3,000 3,000
01 HBSHRHFH 3,000 3,000
OZHZYL2+HAY| 3,000
obz 100,000& x2H «12& 2,400
o2 (MI/A) 50,0003 x 1 128 600




